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iven words in the sequence in which they occur in the dictionary.

Question ID : 630680832475

Option 11D : 6306803260889
Option 21D : 6306803260891
Option 3 ID : 6306803260892
Option 41D : 6306803260890

)th position from upwards and on 41th position from downwards in a class.
idents are in the class?

Question ID : 630680832349

Option 11D : 6306803260385
Option 21D : 6306803260388
Option 31D : 6306803260387
Option 4 ID : 6306803260386
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rde language, ‘NOTED’ is written as ‘ZAPKJ'. What is the code for ‘MOTOR’ in
juage?

\
J
I

Question ID : 630680832392

Option 11D : 6306803260560
Option 2 ID : 6306803260558
Option 31D : 6306803260557
Option 4 ID : 6306803260559

1g question, select the odd letter/letters from the given alternatives.

Question ID : 630680832529

Option 11D : 6306803261108
Option 21D : 6306803261105
Option 31D : 6306803261106
Option 4 ID : 6306803261107

string given below made up of numbers from 0 to 9. How many 8's are there at
bered positions from the right?

1261927164972922815928

Question ID

Option 2 ID

Option 4 ID

1 630680832356
Option 11D :

6306803260416

1 6306803260414
Option 31D :

6306803260413

: 6306803260415

2r of B. B is the brother of C. C is the brother of D. D is the daughter of E. How
‘A?

wter

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680832399

6306803260586
6306803260585
6306803260588
6306803260587
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ssing pair (Third letter cluster : Fourth letter cluster) which is related in the
the first letter cluster is related to the second letter cluster and fifth letter
ted to sixth letter cluster.

ST:QV

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680832366

6306803260456
6306803260453
6306803260455
6306803260454

1g question, four letter pairs are given. The letters on left side of (<) is related
on the right side of (—) with some Logic/Rule/Relation. Three are similar on
' Logic/Rule/Relation. Select the odd one out from the given alternatives.

FEO

SKR
- SXZ
UDK
Question ID : 630680832411
Option 11D : 6306803260635
Option 2 ID : 6306803260634
Option 31D : 6306803260636
Option 4 ID : 6306803260633
namely - P1, P2, P3, P4, P5, P6 and P7 are living in a building of seven floors,
or is numbered 1, floor above it is numbered 2 and so on till the top-most floor
sered 7. Each person lives on a single floor. P1 lives on a floor numbered four.
relow P7. Number of person who live between P6 and P1 are same as the
rsons who live between P1 and P5. P2 lives four floor above P4. P6 lives above
imediately above. P2 doesn't live on top floor. Who lives on floor numbered 6?
Question ID : 630680832431
Option 11D : 6306803260716
Option 2 ID : 6306803260715
Option 31D : 6306803260713
Option 41D : 6306803260714

ssing pair (Third letter cluster : Fourth letter cluster) which is related in the
the first letter cluster is related to the second letter cluster and fifth letter
ted to sixth letter cluster.

QU:SS

-

3

A

X
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five three letter words given below and the answer the questions based on it.
/AC PIC ASU GMA (Right)

's of each word are replaced by the next letter as per the English alphabetical
how many newly formed words, there will be only one vowel?

Question ID : 630680832477

Option 11D : 6306803260899
Option 21D : 6306803260900
Option 31D : 6306803260898
Option 4 ID : 6306803260897

1g question, select the odd letter/letters from the given alternatives.

Question ID : 630680832448

Option 11D : 6306803260783
Option 21D : 6306803260781
Option 3D : 6306803260784
Option 41D : 6306803260782

3 Q,R, S, T,UandV are placed one above the other. Only two boxes are placed
Only one box is placed between box V and S. As many as boxes are placed

/ and T as between box T and P. Three boxes are placed between box Q and R.
ove R. If all boxes are arranged as per English alphabetical order from bottom
»w many boxes retain their same position?

Question ID : 630680832390

Option 11D : 6306803260550
Option 2 ID : 6306803260552
Option 31D : 6306803260549
Option 41D : 6306803260551

1g question, group of letter clusters is given. The letter clusters of each group
th the other letter clusters of the same group by some Logic/Rule/Relation.

n alternatives, select the group of letter clusters which follows the same
xlation.

1, 1)

U, TX)
P, QR)
Z,SB)
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string given below made up of letters.
MNUPKWIPJDOSKUEEHKAOQ

wels are there immediately followed by consonant?

Question ID : 630680832358

Option 11D : 6306803260423
Option 2 ID : 6306803260422
Option 31D : 6306803260421
Option 4 1D : 6306803260424

1g question, select the odd letter/letters from the given alternatives.

Question ID : 630680832330

Option 11D : 6306803260311
Option 21D : 6306803260309
Option 31D : 6306803260310
Option 4 ID : 6306803260312

ssing pair (Third letter cluster : Fourth letter cluster) which is related in the
the first letter cluster is related to the second letter cluster and fifth letter
ted to sixth letter cluster.

/X:SA

N

Question ID : 630680832405

Option 11D : 6306803260611
Option 21D : 6306803260610
Option 31D : 6306803260612
Option 4 ID : 6306803260609

)de language, ‘JOBS' is written as ‘NWJE' and ‘HIKS' is written as ‘NFDC'. What
r ‘MEET’ in that code language?

Question ID : 630680832433
Option 11D : 6306803260721
Option 2D : 6306803260723

Nntinn 2 1IN - A2NA0N224NTNA
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‘A is the mother of B, ‘A — B’ means ‘A is the father of B', ‘A x B’ means ‘A is
!, ‘A + B' means ‘A is the daughter of B. If N x K =R + S + T, then how is R

ter

ir's Wife

Question ID

Option 2 ID

Option 4 ID

Option11D:

Option 31D :

1 630680832480

6306803260911
1 6306803260910
6306803260909
1 6306803260912

rde language, ‘BONEY’ is written as ‘46908, ‘'NAME' is written as ‘3264’,
ten as ‘8739’. What is the code for ‘A’ in that code language?

Option 2 ID
Option 31D

Question ID :
Option 11D :

630680832314
6306803260248

: 6306803260247
: 6306803260246
Option 41D :

6306803260245

elligence and Reasoning Ability 2

'en with one term missing. Select the correct alternative from the given ones
llete the series.

Question ID :
Option 11D :
Option 2 ID
Option 31D
Option 4 ID

630680832334
6306803260326

1 6306803260328
1 6306803260325
1 6306803260327

B, C, D, E and F sitting in a straight row facing towards north (not necessarily
rder). A sits fifth to the left of F. Three persons sits between A and B. B and D
liate neighbours. C sits immediate left of D. Who sits third to the right of D?
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A, B, C, D and E sitting in a straight line facing towards south (not necessarily
rder). A sits at one of the extreme end. D sits second to the right of B. E is not
neighbour of D. C sits second to the left of A. Who sits at an extreme end?

Question ID : 630680832307

Option 11D : 6306803260217
Option 21D : 6306803260219
Option 31D : 6306803260220
Option 4 ID : 6306803260218

ion that is related to the fourth number cluster in the same way as the first

ur is related to the second number cluster and fifth number cluster is related to
cluster.

702 ::31:992

Question ID : 630680832343

Option 11D : 6306803260363
Option 2 ID : 6306803260362
Option 31D : 6306803260361
Option 4 ID : 6306803260364

1g question below are given some statements followed by some conclusions
;e statements. Taking the given statements to be true even if they seem to be
»m commonly known facts. Read all the conclusions and then decide which of
clusion logically follows the given statements.

eN.

‘not L.

eP

sonclusions | and Il follows
onclusions Il and Il follows
onclusions | and Il follows

1clusion follows

Question ID : 630680832323

Option 11D : 6306803260283
Option 2 ID : 6306803260282
Option 31D : 6306803260281
Option 4 ID : 6306803260284
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ywing question, select the odd figure from the given alternatives.

“plpee| X

Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680832336

6306803260333
6306803260334
6306803260335
6306803260336
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nging the given two signs and two numbers, what will be the value of the
n?
12;2-9x8+6+1

Question ID

Option11D:

Option 21D

Option 31D :

Option 4 ID

1 630680832379

6306803260505
1 6306803260506
6306803260507
1 6306803260508

ion in which the numbers shares the same relationship in set as that shared

rs in the given set. (NOTE: Operations should be performed on the whole
1out breaking down the numbers into its constituent digits. E.g.13 -
113 such as adding /subtracting /multiplying etc. to 13 can be performed.

n 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is

14, 288)
)5,115)
75)

17,279)

Question ID :

Option 11D

Option 31D

630680832385

: 6306803260529
Option 21D :

6306803260532

: 6306803260531
Option 41D :

6306803260530

'en with one term missing. Select the correct alternative from the given ones

llete the series.

Question ID :
Option 11D
Option 21D :
Option 31D
Option 41D :

630680832452

: 6306803260798

6306803260800

1 6306803260797

6306803260799

1g question, select the missing number from the given series.
,138,149,?
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1g question below are given some statements followed by some conclusions
;e statements. Taking the given statements to be true even if they seem to be
»m commonly known facts. Read all the conclusions and then decide which of
clusion logically follows the given statements.

P.

'P.

'r conclusion follows
onclusion | follows

:onclusion Il follows

onclusions | and Il follows

Question ID : 630680832402

Option 11D : 6306803260600
Option 2 ID : 6306803260597
Option 31D : 6306803260598
Option 4 ID : 6306803260599

'en with one term missing. Select the correct alternative from the given ones
llete the series.

Question ID : 630680832373

Option 11D : 6306803260482
Option 21D : 6306803260483
Option 31D : 6306803260484
Option 41D : 6306803260481

25 =254 and 154 * 65 @ 99 = 318, then 151 *182 @ 179 =?

Question ID : 630680832377

Option 11D : 6306803260499
Option 2 1D : 6306803260498
Option 3 ID : 6306803260497
Option 41D : 6306803260500
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ion that is related to the sixth number cluster in the same way as the first

ar is related to the second number cluster and third number cluster is related
ber cluster. (NOTE: Operations should be performed on the whole numbers,
ing down the numbers into its constituent digits. E.g.13 — Operations on 13
g /subtracting /multiplying etc. to 13 can be performed. Breaking down 13

nd then performing mathematical operations on 1 and 3 is not allowed)
74::7:39

Question ID : 630680832422

Option 11D : 6306803260680
Option 21D : 6306803260679
Option 31D : 6306803260678
Option 4 ID : 6306803260677

1g question, select the missing number from the given series.
?

Question ID : 630680832501

Option 11D : 6306803260994
Option 2 ID : 6306803260993
Option 31D : 6306803260995
Option 4 ID : 6306803260996

H, I, J and L are sitting around a circular table facing towards the centre. | is
e left of F. J and H are the immediate neighbours of I. L is to the immediate
o is the immediate neighbour of L?

Question ID : 630680832428

Option 11D : 6306803260703
Option 21D : 6306803260702
Option 31D : 6306803260701
Option 4 ID : 6306803260704
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1g question below are given some statements followed by some conclusions
;e statements. Taking the given statements to be true even if they seem to be
»m commonly known facts. Read all the conclusions and then decide which of
clusion logically follows the given statements.

P.
P.

:onclusion Il follows
'r conclusion follows
onclusions | and Il follows

onclusion | follows

Question ID : 630680832521

Option 11D : 6306803261074
Option 21D : 6306803261076
Option 31D : 6306803261075
Option 4 ID : 6306803261073

) =2and 365 # 234 * 124 =7, then 451 #312*56 = ?

Question ID : 630680832378

Option 11D : 6306803260503
Option 21D : 6306803260501
Option 31D : 6306803260504
Option 4 ID : 6306803260502
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is folded and punched as shown below in the question figures. From the given option figures, indicate

i when opened?

d4 JdP| A4 PP PP A]] AP AP
4P P ] PDP| PP Ad] D 4D

Question ID : 630680832495

Option 11D : 6306803260971
Option 2D : 6306803260969
Option 31D : 6306803260970
Option 4 ID : 6306803260972
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ion in which the numbers shares the same relationship in set as that shared

rs in the given set. (NOTE: Operations should be performed on the whole

1out breaking down the numbers into its constituent digits. E.g.13 -

113 such as adding /subtracting /multiplying etc. to 13 can be performed.

n 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is

)

8)

4,5822)

41,9261)

1,3879)

81)
Question ID : 630680832424
Option 11D : 6306803260687
Option 2 1D : 6306803260686
Option 31D : 6306803260685
Option 4 1D : 6306803260688

rareness 1

, and Shigar rivers are the tributaries of which of the following river?
ari

laputra

Question ID : 630680830449

Option 11D : 6306803252891
Option 2 ID : 6306803252890
Option 3 ID : 6306803252892
Option 41D : 6306803252889

nce (the property of a living organism to emit light) is well marked in which of
phylum?

Iminthes
phora
ra

1terata

Question ID : 630680830578

Option 11D : 6306803253408
Option 2 ID : 6306803253405
Option 3 ID : 6306803253407
Option 41D : 6306803253406

‘ollowing refers to the strong, gusty, hot, dry winds blowing during the day over
northwestern India?

'sters

aisakhi

wvat
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‘ollowing Tamil epic describe the story of Kovalan and Madhavi's daughter?

piyam
gai
nekalai

adikaram

Question ID : 630680830401
Option 11D : 6306803252698
Option 2 ID : 6306803252700
Option 31D : 6306803252699
Option 4 ID : 6306803252697
and Tibetan antelope are found in which type of forest?
al Thorn Forests and Scrubs
‘'ove Forests
ine Forests
al Evergreen Forests
Question ID : 630680830407
Option 11D : 6306803252721
Option 21D : 6306803252723
Option 31D : 6306803252722
Option 4 ID : 6306803252724
e following places does Bhagirathi meet Alaknanda?
orayag
rayag
rayag
1 prayag
Question ID : 630680830528
Option 11D : 6306803253208
Option 2 ID : 6306803253205
Option 3D : 6306803253207
Option 4 ID : 6306803253206
‘ollowing is NOT a source of Vitamin D?
e
Question ID : 630680830539
Option 11D : 6306803253250
Option 2 ID : 6306803253252
Option 31D : 6306803253249
Option 41D : 6306803253251
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‘ollowing is needed for the growth and repair of our body?
ns

ils

ns

Question ID : 630680830381

Option 11D : 6306803252619
Option 2 ID : 6306803252620
Option 31D : 6306803252618
Option 4 ID : 6306803252617

1fluence money supply by changing the rate at which it gives loans to the
anks. This rate is called the in India.

;e Repo Rate

ory Liquidity Ratio
Reserve Ratio

Rate

Question ID : 630680830515

Option 11D : 6306803253154
Option 21D : 6306803253155
Option 31D : 6306803253153
Option 4 ID : 6306803253156

is a unique flower festival of which state of India?

Jjana
‘hal Pradesh

chal Pradesh

Question ID

Option 2 ID

1 630680830365
Option 11D :

6306803252553

: 6306803252556
Option 31D :
Option 41D :

6306803252554
6306803252555

v many languages were included in the 8th Schedule of the Indian

Question ID :
Option11D:
Option 21D :

Option 31D

630680830403
6306803252707
6306803252705

1 6306803252708
Option 41D :

6306803252706
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‘ollowing festivals is related to the Indian state of Kerala?
,

Question ID : 630680830366

Option 11D : 6306803252557
Option 21D : 6306803252558
Option 31D : 6306803252560
Option 41D : 6306803252559

‘ollowing is a micronutrient?

hydrates

s

Question ID : 630680830580

Option 11D : 6306803253413
Option 2 ID : 6306803253416
Option 31D : 6306803253414
Option 4 ID : 6306803253415

‘ollowing is NOT a positive impact of science and technology?
Communication

sed Social Engagement
ced Information Access

ncy Gains

Question ID : 630680830582

Option 11D : 6306803253421
Option 2 ID : 6306803253424
Option 3 ID : 6306803253422
Option 4 ID : 6306803253423

da is the Rigveda, composed about years ago.

Question ID : 630680830362

Option 11D : 6306803252544
Option 2 ID : 6306803252541
Option 3 ID : 6306803252543
Option 41D : 6306803252542
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sanks to keep some reserves in liquid form in the short term, is called which of
)

Reserve Ratio
ory Liquid Ratio
ate

Rate

Question ID : 630680830394

Option 11D : 6306803252669
Option 21D : 6306803252670
Option 31D : 6306803252671
Option 4 ID : 6306803252672

1e following controls the monetary policy of India?
1al Bank For Agriculture And Rural Development

;e Minister
ve Bank of India

ties and Exchange Board of India

Question ID : 630680830356

Option 11D : 6306803252517
Option 21D : 6306803252519
Option 3 ID : 6306803252520
Option 4 ID : 6306803252518

n of Sikh population has declined by what percentage point (PP) during the
2011?

)
bJ

)

Question ID : 630680830532

Option 11D : 6306803253223
Option 2 1D : 6306803253221
Option 3 1D : 6306803253224
Option 4 ID : 6306803253222

‘ollowing statements is correct about hydrogen sulphide (H,S)?

ly known for its foul smell like rotten eggs.

ie fatigue of sense of smell only in short time.
and Il

r1norll

Question ID : 630680830383

Option 11D : 6306803252627
Option 2 ID : 6306803252625
Option 31D : 6306803252626
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ge is spoken in which state of India?

am

u and Kashmir

khand

‘hal Pradesh
Question ID : 630680830524
Option 11D : 6306803253192
Option 21D : 6306803253190
Option 31D : 6306803253189
Option 4 ID : 6306803253191

rareness 2

ied in which year in British India?

Question ID : 630680830518

Option 11D : 6306803253167
Option 2 1D : 6306803253165
Option 31D : 6306803253168
Option 41D : 6306803253166

tma Gandhi travelled to Champaran to inspire the peasants to struggle against
e plantation system. Champaran is located in which state of India?

‘ashtra
it

)

Question ID : 630680830397

Option 11D : 6306803252681
Option 2 ID : 6306803252683
Option 31D : 6306803252682
Option 4 ID : 6306803252684

‘ollowing statements is correct regarding the qualifications for election as

en of India.
pleted the age of thirty-five years.

vl norll

and Il

Question ID : 630680830537
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‘ollowing was the sex ratio in the economically active age group (15-59 years)
ensus?

Question ID : 630680830571

Option 11D : 6306803253378
Option 2 ID : 6306803253377
Option 31D : 6306803253380
Option 4 ID : 6306803253379

‘ollowing statements is NOT correct about the Vice President of India?

ce President may be removed from his office by a resolution of the Rajya Sabha
1gjority and agreed to by the Lok Sabha.

‘es over the office of the President when there is a vacancy by reasons of death,
'moval by impeachment or otherwise.

ice President acts as the exofficio Chairman of the Lok Sabha.

ce President is elected for five years.

Question ID : 630680830576

Option 11D : 6306803253399
Option 2 ID : 6306803253400
Option 3D : 6306803253398
Option 41D : 6306803253397

odiversity Framework (GBF) Fund was launched in which year?

Question ID : 630680830467

Option 11D : 6306803252964
Option 2 ID : 6306803252963
Option 3 ID : 6306803252961
Option 4 ID : 6306803252962

‘ollowing institutions is not mentioned in the Constitution of India?
n commission

ing commission
public service commission

;e commission

Question ID : 630680830375

Option 11D : 6306803252596
Option 21D : 6306803252595
Option 3 ID : 6306803252594
Option 41D : 6306803252593
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ion on Edible Oils — Oil Palm was launched in which of the following year?

Question ID : 630680830390

Option 11D : 6306803252656
Option 2 1D : 6306803252654
Option 3 ID : 6306803252653
Option 4 ID : 6306803252655

1e following was the founder of Rashtrakuta dynasty?
eva Chauhan

sshin |
3

jurga

Question ID : 630680830440

Option 11D : 6306803252856
Option 2 ID : 6306803252855
Option 31D : 6306803252853
Option 4 ID : 6306803252854

>f Health and Family Welfare launched a nationwide Universal Drug
n (MDA) campaign to eliminate which of the following diseases?

cancer
1atic Filariasis
cell anemia

ese Encephalitis

Question ID : 630680830432

Option 11D : 6306803252823
Option 2 ID : 6306803252822
Option 3 ID : 6306803252824
Option 4 ID : 6306803252821

cquisition of property was omitted by which constitutional amendment act of

fourth Amendment Act
y-fourth Amendment Act
th Amendment Act

sixth Amendment Act

Question ID : 630680830454

Option 11D : 6306803252912
Option 2 ID : 6306803252910
Option 3 ID : 6306803252909
Option 41D : 6306803252911
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Sovernment 'Lek Ladki' scheme is effective for girls born after which year?
ril 2020

ril 2021
ril 2022
ril 2023

Question ID : 630680830348

Option 11D : 6306803252488
Option 2 ID : 6306803252487
Option 3D : 6306803252486
Option 4 ID : 6306803252485

the following city hosted India's opening two home matches in the FIFA World
| AFC Asian Cup 2027 Preliminary Joint Qualification Round 2?

ineswar
a

Question ID : 630680830465

Option 11D : 6306803252956
Option 21D : 6306803252953
Option 3 ID : 6306803252955
Option 4 ID : 6306803252954

Conference on Spacecraft Mission Operations (SMOPS-2023) was organized
Space Research Organization (ISRO) in collaboration with which of the
nizations in June 2023?

e Agency

al Academy of Astronautics

il norll

and Il

Question ID : 630680830393

Option 11D : 6306803252666
Option 2 ID : 6306803252668
Option 31D : 6306803252665
Option 4 ID : 6306803252667

e following year Babur defeated the Sultan of Delhi, Ibrahim Lodi, at Panipat?

Question ID : 630680830479

Option 11D : 6306803253009
Option 2 ID : 6306803253010
Option 31D : 6306803253012
Option 41D : 6306803253011
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Swati Nayak won which of the following international awards in September

sions of the Earth
peace prize
1an Environmental Prize

an Borlaug Field Award

Question ID : 630680830346

Option 11D : 6306803252478
Option 2 ID : 6306803252477
Option 31D : 6306803252480
Option 4 ID : 6306803252479

:'Mera Yuva Bharat (MY Bharat) platform for youth of the India launched?
er 31st 2021

er 31st 2020
er 31st 2023
er 31st 2022

Question ID : 630680830469

Option 11D : 6306803252971
Option 21D : 6306803252972
Option 3 ID : 6306803252969
Option 4 ID : 6306803252970

of the Indian Constitution provides for abolition of titles?
122

123
115
218

Question ID : 630680830373

Option 11D : 6306803252587
Option 2 ID : 6306803252588
Option 3 ID : 6306803252585
Option 4 1D : 6306803252586

ime of the program announced by the Government of India to connect Indian
iora with Indian higher educational institutions in June 2023?

1AV Fellowship
ii Fellowship

sasaheb Ambedkar National Research Fellowship (BANRF)

se fellowship

Question ID : 630680830431

Option 11D : 6306803252817
Option 2 ID : 6306803252820
Option 31D : 6306803252819
Option 4 ID : 6306803252818
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»uth Games (KIYG) 2023 was held in how many cities of Tamil Nadu from
1,2024?

Question ID : 630680830344

Option 11D : 6306803252472
Option 2 ID : 6306803252469
Option 31D : 6306803252470
Option 41D : 6306803252471

al and Numerical Ability 1

or Rs. 1248 after two successive discounts of 20 percent and 40 percent. What is the marked price of

2400
2500
2600
2800

Question ID : 630680831615

Option 11D : 6306803257506
Option 2 ID : 6306803257507
Option 31D : 6306803257505
Option 4 ID : 6306803257508

he value of 5.243?
[O

e o

[

—r

Question ID : 630680831721

Option 11D : 6306803257931
Option 2 ID : 6306803257929
Option 31D : 6306803257932
Option 4 ID : 6306803257930
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hart given below shows the number of pens sold by 7 shops.
65

60

34

42
35

18

1e total number of pens sold by A, B, C and D?

Question ID : 630680831596

Option 11D : 6306803257430
Option 2 ID : 6306803257429
Option 3 ID : 6306803257431
Option 4 ID : 6306803257432

hevalueof[£+l+le[l+l}?
2 4 8 3 5

Question ID : 630680831600

Option 11D : 6306803257445
Option 21D : 6306803257448
Option 3 ID : 6306803257447
Option 4 ID : 6306803257446

t the same rate of compound interest (compounded annually) becomes ¥ 1800 in 3 years and I 7200 in
the sum?

0
50
0
0

Question ID : 630680831712

Nntinn 1 1IN - A2NA0N292°K700K
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t of 50 percent is given on the marked price of an article of  1050. If two successive discounts of 40
ercent are given, then what will be the difference between both the selling prices?

)
¥
¥

)

Question ID : 630680831816

Option 11D : 6306803258312
Option 21D : 6306803258311
Option 3 ID : 6306803258310
Option 41D : 6306803258309

t below shows the salary (in ¥ thousands) of 7 employees (A, B, C, D, E. F and G)
y for the year P and Q. )

450

——P —Q

atio of salary of A to the salary of C in vear P?

Question ID : 630680831757

Option 11D : 6306803258076
Option 2 ID : 6306803258073
Option 31D : 6306803258075
Option 4 ID : 6306803258074

. . 1
z and s , how many of these fractions lie between 3 and 2 ?

7
815 13

Question ID : 630680831605

Option 11D : 6306803257467
Option 2 1D : 6306803257465
Option 3 ID : 6306803257468
Option 41D : 6306803257466
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" the following number is divisible by 12?

6
2
8
4
Question ID : 630680831764
Option 11D : 6306803258103
Option 21D : 6306803258102
Option 31D : 6306803258104
Option 41D : 6306803258101
't shows the monthly expenditure of a family for a particular month. Expenditure done on a particular
terms of percentage with respect to total expenditure done on the given items.
7 expenditure for the given month is Rs. 72000.
it
done on food and rent together is approximately what percent more than the expenditure done on
1t together?
12 percent
4 percent
73 percent
I8 percent
Question ID : 630680831635
Option 11D : 6306803257588
Option 2 ID : 6306803257586
Option 31D : 6306803257585
Option 4 1D : 6306803257587
he value of 0.961 + 0.31?
Question ID : 630680831799
Option 11D : 6306803258243
Option 2 ID : 6306803258244
Option 31D : 6306803258242
Option 41D : 6306803258241
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21 below shows the marks obtained by a student in 6 different subjects. The total marks obtained by the
1e marks of every subject is shown as a percentage of the total marks obtained in these 6 subjects.

A
6%

16%

of the marks obtained in C to the marks obtained in F?

1

L

l

3
Question ID :
Option11D:
Option 21D :
Option 31D :
Option 41D :

630680831598

6306803257437
6306803257439
6306803257438
6306803257440

0 for 2 years at compound interest (compounded annually) in a company which paid him interest of
[l be the annual rate of interest at which X invested his money?

ercent

ercent

rercent

sercent
Question ID : 630680831714
Option 11D : 6306803257902
Option 2 ID : 6306803257904
Option 31D : 6306803257903
Option 4 1D : 6306803257901

_ the following numbers is divisible by 247

2

2

8

4
Question ID : 630680831682
Option 11D : 6306803257775
Option 2 ID : 6306803257776
Option 31D : 6306803257773
Option 4 ID : 6306803257774
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he value of 11° + 133 + 153 +
0o
00
0o
W00

Question ID : 630680831646

Option 11D : 6306803257632
Option 2 1D : 6306803257630
Option 3 ID : 6306803257629
Option 4 ID : 6306803257631

zht of 23 students is 59 kg. After including a new student in that group the average weight rises by 1.5
reight of the new student?

g
kg

kg

Question ID : 630680831668

Option 11D : 6306803257718
Option 21D : 6306803257719
Option 31D : 6306803257717
Option 41D : 6306803257720

as will a sum of 7 17000 give compound interest (compounded annually) of 2 7480 at the rate of 20
m?

Question ID : 630680831793

Option 11D : 6306803258220
Option 21D : 6306803258219
Option 31D : 6306803258218
Option 4 ID : 6306803258217

tht of M, N and O is 152 cm. If the average height of M and N is 140 em and the average height of N
then what is the height of N?

Question ID : 630680831587
Option 11D : 6306803257394
Option 2 ID : 6306803257393
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5 to purchase toffees at ¥ 1.50 each. Next day, he purchased some toffees for ¥ 90 with a discount of 25
Nhat is the average price per toffee?

26
14
48
32
Question ID : 630680831749
Option 11D : 6306803258043
Option 21D : 6306803258044
Option 3 ID : 6306803258042
Option 4 ID : 6306803258041
he value of 13 + 23 +33 + . +10%
'5
5
5
5
Question ID : 630680831763
Option 11D : 6306803258098
Option 21D : 6306803258099
Option 31D : 6306803258097
Option 4 ID : 6306803258100
al and Numerical Ability 2
stween the compound interest (compounding half yearly) for 1 year and the simple interest for 1 year
lent out at the annual rate of 50 percent is Rs.1250. What is the sum?
20000
25000
27000
30000
Question ID : 630680831671
Option 11D : 6306803257730
Option 21D : 6306803257729
Option 31D : 6306803257731
Option 4 ID : 6306803257732

lk and water in three cups is in the ratio 11 : 10, 10 : 13, 2 : 1, respectively. 21 litres of first
second cup are taken. How much quantity from the third cup should be taken so that the
om the three cups will have milk and water in ratio 1 : 17

res

Ies

fres

itres
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= 3V =(3/8)S, then what is the value of T: V : §?
763

g:064

9:7

2.3

Question ID : 630680831617

Option 11D : 6306803257514
Option 2 ID : 6306803257513
Option 31D : 6306803257516
Option 4 ID : 6306803257515

| on selling an article is 200 percent of the cost price. IF the cost price increases by 50 percent and the
ains the same, then the new profit is what percent of the selling price?

yercent
percent
percent

percent

Question ID : 630680831774

Option 11D : 6306803258142
Option 21D : 6306803258141
Option 31D : 6306803258144
Option 4 ID : 6306803258143

:ns for Rs. T 1800 a retailer loses 10 percent. To make a profit of 20 percent, how many pens should he
)

Question ID : 630680831813

Option 11D : 6306803258298
Option 2 ID : 6306803258300
Option 31D : 6306803258299
Option 4 ID : 6306803258297

pple is increased by 60 percent, then a person can buy 12 apples less for Rs. 64. What is the original
2

L

Question ID : 630680831651
Option 11D : 6306803257651
Option 2 ID : 6306803257650

Nniina D IN . £2ANZONNAECTLZEN
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"44 percent of a number is 121. What is the value of 16 percent of that number?

Question ID : 630680831688

Option 11D : 6306803257800
Option 2 ID : 6306803257799
Option 31D : 6306803257797
Option 4 ID : 6306803257798

ing at the speed of 64 ki/hr at 10:00 am. Neeraj starts moving after 3 hours of Vivek at the speed of 96
k and Neeraj started from the same point and moved in the same direction. Which of the following

e correct?

ek meet each other at 7 pm.

covered by both Neeraj and Vivek till 6 pm is 992 km.

y 11

vI

ther I nor II
hTandII

Question ID : 630680831706

Option 11D : 6306803257870
Option 21D : 6306803257869
Option 31D : 6306803257871
Option 4 ID : 6306803257872

.95 percent less than another number 72 and Z2 is 5 percent more than 3200, then what is the value of

Question ID : 630680831647

Option 11D : 6306803257634
Option 2 1D : 6306803257635
Option 3 ID : 6306803257636
Option 41D : 6306803257633

B can fill an empty tank alone in 90 hours and 135 hours respectively. Pipe C alone can empty that
tank in 108 hours. At first both pipes A and B are opened and after 48 hours pipe C is also opened. In
rom the beginning will the tank be completely filled?

1oUrs
1oUrs
1oUrs

hours
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ving at a speed of 70 m/s. What will be the speed of this car in km/hr?
! km/hr
km/hr
km/hr
km/hr

Question ID : 630680831623

Option 11D : 6306803257538
Option 2 ID : 6306803257537
Option 31D : 6306803257539
Option 4 ID : 6306803257540

1 U are at a distance of 120 km from each other at 11:45 am. After 15 mins, S starts moving towards U

a/'hr while at 2 pm, U starts moving away from S (in the same direction) at a speed of 20 km/hr. At
ey meet on the next day?

0am
Jam
)0 am

Jam

Question ID : 630680831785

Option 11D : 6306803258188
Option 21D : 6306803258187
Option 31D : 6306803258186
Option 4 ID : 6306803258185

3)y and v = (3/4)z, then what is the value of x : v : 2?
i:2

5:3
35
3:4

Question ID : 630680831778

Option 11D : 6306803258160
Option 2 ID : 6306803258159
Option 3 ID : 6306803258158
Option 4 ID : 6306803258157

a circle is increased by 25 percent. What will be the percentage increase in its area?

yercent
) percent
5 percent

25 percent

Question ID : 630680831649
Option 11D : 6306803257641
Option 2 1D : 6306803257643

Nntinn 2 1IN - A2NA0ONDIETEAA
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am is 20 km/hr and the speed of boat in still water is 25 km/hr. How much total time will boat take to
e of 4 km upstream and 9 km downstream?

hours
ur
nrs
nrs
Question ID : 630680831824
Option 11D : 6306803258342
Option 21D : 6306803258341
Option 3 ID : 6306803258344
Option 41D : 6306803258343
plete a piece of work in 36 days. Q and R together can complete the same work in 45 days. In how
’, Q and R together complete the same work?
lays
days
lays
lays
Question ID : 630680831701
Option 11D : 6306803257849
Option 21D : 6306803257851
Option 31D : 6306803257852
Option 4 ID : 6306803257850
| increases by 15 years, then simple interest increases by ¥ 7500 on a sum of ¥ 2000. What is the annual
ercent
yercent
yercent
perc ent
Question ID : 630680831750
Option 11D : 6306803258046
Option 2 ID : 6306803258045
Option 31D : 6306803258048
Option 41D : 6306803258047

1ber of boys and girls in a college is 9 : 2. If 20 boys leave the college and 20 more girls join the
ir ratio becomes 8 : 3. What is the initial number of boys in the college?

Question ID : 630680831819
Option 11D : 6306803258324
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ng price of an article is equal of 10 times the cost price, then what is the profit percentage? (correct to
es)

L1 percent
) percent
ercent

yercent

Question ID : 630680831732

Option 11D : 6306803257973
Option 2 ID : 6306803257974
Option 3 1D : 6306803257975
Option 4 ID : 6306803257976

ree students. J got 52 percent less marks than K and 56 percent more marks than L. If K got 1300
t are the marks got by L?

)

Question ID : 630680831730

Option 11D : 6306803257966
Option 2 1D : 6306803257967
Option 3 ID : 6306803257965
Option 41D : 6306803257968

llish Language and Comprehension 1

»rrect synonym of the word given below.

/e

Question ID : 630680830231

Option 11D : 6306803252030
Option 21D : 6306803252031
Option 3 ID : 6306803252029
Option 4 ID : 6306803252032

st appropriate option for the given blank.
ided to his soul by spending a week in the wilderness.

[ Nuectinn IND - ARANARNKRINNAT ]


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

iom/phrase that can substitute the highlighted group of words meaningfully.
sther team has lost its star player due to injury, we really have a position of
er them.

a few strings
the upper hand
which way the wind blows

ruit

Question ID : 630680830060

Option 11D : 6306803251379
Option 2 ID : 6306803251378
Option 3 ID : 6306803251377
Option 41D : 6306803251380

st appropriate option to fill in the blank.
iis hand in gesture of sympathy.

icle

Question ID : 630680830078

Option 11D : 6306803251448
Option 21D : 6306803251446
Option 3 ID : 6306803251445
Option 4 ID : 6306803251447

1g question, out of the given four alternatives, select the alternative which best
 meaning of the Idiom/Phrase.
ntlet

diate between two parties
a difficult task
dergo severe criticism or attack

half heartedly

Question ID : 630680830229

Option 11D : 6306803252023
Option 21D : 6306803252021
Option 31D : 6306803252022
Option 41D : 6306803252024

st appropriate option for the given blank.
acher is my model.

Question ID : 630680830110

Option 11D : 6306803251569
Option 2 ID : 6306803251571
Option 3 ID : 6306803251570
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st appropriate option to fill in the blank.

e largest continent on the earth.

Question ID : 630680830081

Option 11D : 6306803251458
Option 21D : 6306803251459
Option 3D : 6306803251460
Option 4 ID : 6306803251457

nderlined part of the sentence. Choose ‘No improvement’ as an answer if the
-ammatically correct.
seabirds nestled in the small isle.

provement
gon
'd on

t

Question ID : 630680830043

Option 11D : 6306803251316
Option 21D : 6306803251314
Option 31D : 6306803251313
Option 41D : 6306803251315

ost appropriate antonym of the underlined word.
him for the way he treated her.

[
ped
id

Question ID : 630680830233

Option 11D : 6306803252039
Option 2 ID : 6306803252038
Option 31D : 6306803252037
Option 41D : 6306803252040

1g question, out of the given four alternatives, select the alternative which best
 meaning of the Idiom/Phrase.
2's nose at

llify someone
jard with contempt
ore someone

yrfere in someone’s matter

Question ID : 630680830062
Option 11D : 6306803251388
Option 2 ID : 6306803251385

Nntinn 2 1IN - A2NA0N29E1204
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st appropriate option to fill in the blank.
woman who goes her way to help others.

Question ID : 630680829996
Option 11D : 6306803251135
Option 2 ID : 6306803251134
Option 31D : 6306803251136
Option 4 ID : 6306803251133
nderlined part of the sentence. Choose ‘No improvement’ as an answer if the
-ammatically correct.
reders with seeds and nuts for | was a children.
| was a child
provement
ere a children
were a child
Question ID : 630680830003
Option 11D : 6306803251162
Option 2 1D : 6306803251164
Option 31D : 6306803251163
Option 4 ID : 6306803251161
st appropriate option to fill in the blank.
osortant juncture, we spoke to several experts from different fields.
Question ID : 630680830163
Option 11D : 6306803251771
Option 2 ID : 6306803251769
Option 31D : 6306803251770
Option 41D : 6306803251772
nderlined part of the sentence. Choose ‘No improvement’ as an answer if the
-ammatically correct.
:ommunity reforestation projects and those of funders doesn't align always.
ders didn't aligned
provement
iders didn't align
ders don't align
Question ID : 630680830004
Option 11D : 6306803251166
Option 2 1D : 6306803251168
6306803251165
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st appropriate option to fill in the blank.
ern technology, it would be possible to distribute leisure

Question ID : 630680830166

Option 11D : 6306803251783
Option 2 ID : 6306803251782
Option 31D : 6306803251784
Option 4 1D : 6306803251781

st appropriate option to fill in the blank.
big house in country.

icle

Question ID : 630680830035

Option 11D : 6306803251282
Option 2 1D : 6306803251284
Option 31D : 6306803251283
Option 41D : 6306803251281

nderlined part of the sentence. Choose ‘No improvement’ as an answer if the
-ammatically correct.

jloves while pruned the rose bush.
orune

oruned
pruning

provement

Question ID : 630680830212

Option 11D : 6306803251957
Option 2 ID : 6306803251959
Option 3 ID : 6306803251958
Option 41D : 6306803251960

nderlined part of the sentence. Choose ‘No improvement’ as an answer if the
-ammatically correct.

ted, and a speck of dirt blew into my eye.
ick of dirt blew into my

provement
:k of an dirt blew into my

eck of the dirt blew into my

Question ID : 630680830000

Option 11D : 6306803251149
Option 21D : 6306803251152
Option 31D : 6306803251150



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

iom/phrase that can substitute the highlighted group of words meaningfully.
wbour seizes every occasion to start a quarrel.

| fight
from the blue
g in the wings

lease of life

Question ID : 630680830017

Option 11D : 6306803251213
Option 21D : 6306803251215
Option 31D : 6306803251216
Option 4 ID : 6306803251214

nderlined part of the sentence. Choose ‘No improvement’ as an answer if the
-ammatically correct.

idfather was born during reign of Queen Victoria.
‘he reign

areign
J the reign

provement

Question ID : 630680829999

Option 11D : 6306803251147
Option 2 ID : 6306803251145
Option 31D : 6306803251146
Option 4D : 6306803251148

llish Language and Comprehension 2

ord that can substitute the given group of words.
; something for the sake of money (bad sense)

feur
nary
or

i

Question ID : 630680830008

Option 11D : 6306803251184
Option 2 ID : 6306803251182
Option 31D : 6306803251183
Option 41D : 6306803251181

ost appropriate synonym of the underlined word.
‘deserve such extravagant praise?

Jra
e

sive

Question ID : 630680830150

Nntinn 1 1IN - 22NZ0ND292E1791
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ord that can substitute the given group of words.
nclined to indulge in something repeatedly

al

t

Question ID : 630680830094
Option 11D : 6306803251512
Option 2 ID : 6306803251511
Option 31D : 6306803251510
Option 4 1D : 6306803251509
s given in each question, when properly sequenced, form a coherent
ch sentence is labelled with a letter. Choose the most logical order of
m among the given choices to construct a coherent paragraph.
| water scarcity requires a multifaceted approach. Conservation efforts, such
ater wastage and adopting effi cient irrigation techniques, play a crucial role.
assence of life, is under threat in many parts of the world due to growing water
il challenge caused by factors like overuse, pollution, and climate change.
this crisis, efficient water management, conservation, and responsible usage
sity leads to droughts, crop failures, and waterborne diseases, affecting
ople worldwide.
A
3
)
Question ID : 630680830005
Option 11D : 6306803251169
Option 2 ID : 6306803251170
Option 31D : 6306803251171
Option 41D : 6306803251172
orrectly spelt word from the given sentence.
is messy and unceremonious; it cannot stop too long for death without losing
1dertowe.
towe
:monious
Question ID : 630680830195
Option 11D : 6306803251896
Option 2 ID : 6306803251895
Option 31D : 6306803251894
Option 4 ID : 6306803251893
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orrectly spelt word from the given sentence.
2 door interrupted him, and his face resumed its amiable expresion.

Ipted
sion

le

Question ID : 630680830070

Option 11D : 6306803251417
Option 21D : 6306803251418
Option 31D : 6306803251420
Option 4 ID : 6306803251419

ord that can substitute the given group of words.
f light, avoiding it

id
igous

ous

Question ID : 630680830092

Option 11D : 6306803251504
Option 21D : 6306803251503
Option 3 ID : 6306803251502
Option 41D : 6306803251501

»rrect antonym of the word given below.

Question ID : 630680830190

Option 11D : 6306803251875
Option 2 ID : 6306803251873
Option 31D : 6306803251876
Option 4 ID : 6306803251874

: following sentences to form a coherent paragraph.

is important, they can usually make a good guess about what it is.
ise is to the body, reading is to the mind.

lifferent purposes for reading.

ading for their pleasure rarely stop to ask about the words.
n is deriving pleasure.

N
>
A
~
>

3

Question ID : 630680830216
Option 11D : 6306803251973
Option 2 ID : 6306803251975
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ord that can substitute the given group of words
presents a radio/television programme

l

an

‘itan
Question ID : 630680830177
Option 11D : 6306803251828
Option 21D : 6306803251825
Option 31D : 6306803251826
Option 41D : 6306803251827

on:

wing passage and answer the questions given below.

:n excluding the marriage migration) affects the status of women directly or

1e rural areas, male selective out-migration leaving their wives behind puts extra
2l mental pressure on the women. Migration of ‘women’ either for education or
:nhances their autonomy and role in the economy but also increases their

f remittances are the major benefits of migration from the point of view of the
.the loss of human resources particularly highly skilled people is the most

T'he market for advanced skills has become truly a global market and the most
strial economies are admitting and recruiting significant proportions of the
professionals from poor regions. Consequently, the existing underdevelopment
‘egion gets reinforced

No: 11

| the passage means the same as - transfer of fund?

omy

ability

tance

rced
Question ID : 630680830057
Option 11D : 6306803251366
Option 21D : 6306803251367
Option 31D : 6306803251368
Option 41D : 6306803251365

on:

wing passage and answer the questions given below.

:n excluding the marriage migration) affects the status of women directly or

1e rural areas, male selective out-migration leaving their wives behind puts extra
2|l mental pressure on the women. Migration of ‘women’ either for education or
:nhances their autonomy and role in the economy but also increases their

f remittances are the major benefits of migration from the point of view of the

. the loss of human resources particularly highly skilled people is the most

T'he market for advanced skills has become truly a global market and the most
strial economies are admitting and recruiting significant proportions of the
professionals from poor regions. Consequently, the existing underdevelopment
‘egion gets reinforced

No:12
able title for the passage.
of migration from rural to urban areas.

ar Dynamics and Economic Implications of Migration

vics of industrial economy

n’s migration in the world
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on:

wing passage and answer the questions given below.

:n excluding the marriage migration) affects the status of women directly or

1e rural areas, male selective out-migration leaving their wives behind puts extra
2|l mental pressure on the women. Migration of ‘women’ either for education or
:nhances their autonomy and role in the economy but also increases their

f remittances are the major benefits of migration from the point of view of the

. the loss of human resources particularly highly skilled people is the most

The market for advanced skills has become truly a global market and the most
strial economies are admitting and recruiting significant proportions of the
professionals from poor regions. Consequently, the existing underdevelopment
‘egion gets reinforced

No:13
sage it can be inferred that

ion of women for education and employment is beneficial from all aspects.
n migration is more common than men’s migration.

tion helps in strengthening the economy of a place but at the cost of losing its
ce.

ion is beneficial for economy.

Question ID : 630680830058

Option 11D : 6306803251372
Option 21D : 6306803251369
Option 31D : 6306803251371
Option 4 ID : 6306803251370

on:

wing passage and answer the questions given below.

:n excluding the marriage migration) affects the status of women directly or

1e rural areas, male selective out-migration leaving their wives behind puts extra
2|l mental pressure on the women. Migration of ‘women’ either for education or
:nhances their autonomy and role in the economy but also increases their

f remittances are the major benefits of migration from the point of view of the

. the loss of human resources particularly highly skilled people is the most

The market for advanced skills has become truly a global market and the most
strial economies are admitting and recruiting significant proportions of the
professionals from poor regions. Consequently, the existing underdevelopment
‘egion gets reinforced

No: 14

ne of the author in the passage?
stive

|

|

nistic

Question ID : 630680830056

Option 11D : 6306803251361
Option 2 ID : 6306803251362
Option 31D : 6306803251364
Option 4 ID : 6306803251363
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on:

wing passage and answer the questions given below.

:n excluding the marriage migration) affects the status of women directly or

1e rural areas, male selective out-migration leaving their wives behind puts extra
2|l mental pressure on the women. Migration of ‘women’ either for education or
:nhances their autonomy and role in the economy but also increases their

f remittances are the major benefits of migration from the point of view of the

. the loss of human resources particularly highly skilled people is the most

The market for advanced skills has become truly a global market and the most
strial economies are admitting and recruiting significant proportions of the
professionals from poor regions. Consequently, the existing underdevelopment
‘egion gets reinforced

No:15

s are the major benefits of migration from the point of view of the source

:entence, the highlighted words refer to

:gion from where the people have migrated out.
yurce of economic growth
gion of industrial development

gion where people have migrated into.

Question ID : 630680830055
Option 11D : 6306803251359
Option 2 1D : 6306803251360
Option 31D : 6306803251357
Option 41D : 6306803251358
on:
iage carefully and select the correct answers for the given blanks out of the four
of developments in online technology, the relationship 1 the operation
ation of education and convergence culture bringing the online and the offline
ar 3 -complex ways, and the increasing sophistication of the uses made
it is imperative 4 schools keep abreast of current thinking 5
1.
No:16
st appropriate option for blank(4).
Question ID : 630680830033
Option 11D : 6306803251273
Option 2 ID : 6306803251275
Option 31D : 6306803251276
Option 4 1D : 6306803251274
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on:

;age carefully and select the correct answers for the given blanks out of the four

of developments in online technology, the relationship 1 the operation
ation of education and convergence culture bringing the online and the offline
ar 3 -complex ways, and the increasing sophistication of the uses made
it is imperative 4 schools keep abreast of current thinking 5
1.

No:17
st appropriate option for blank(5).
'garding
fing
irding
jarding
Question ID : 630680830034
Option 11D : 6306803251280
Option 2 ID : 6306803251278
Option 31D : 6306803251277
Option 4 ID : 6306803251279
on:
;age carefully and select the correct answers for the given blanks out of the four
of developments in online technology, the relationship 1 the operation
ation of education and convergence culture bringing the online and the offline
ar3____ -complex ways, and the increasing sophistication of the uses made
it is imperative 4 schools keep abreast of current thinking 5
1.
No:18
st appropriate option for blank(2).
r
ther
er
Question ID : 630680830031
Option 11D : 6306803251266
Option 2 ID : 6306803251265
Option 31D : 6306803251268
Option 4 ID : 6306803251267
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on:

:age carefully and select the correct answers for the given blanks out of the four

of developments in online technology, the relationship 1 the operation
ation of education and convergence culture bringing the online and the offline
ar 3 -complex ways, and the increasing sophistication of the uses made

it is imperative 4 schools keep abreast of current thinking 5
1.

No:19

st appropriate option for blank(1).

'en

it

ly
Question ID : 630680830030
Option 11D : 6306803251261
Option 21D : 6306803251263
Option 31D : 6306803251264
Option 4 ID : 6306803251262

on:

iage carefully and select the correct answers for the given blanks out of the four

of developments in online technology, the relationship 1 the operation
ation of education and convergence culture bringing the online and the offline
ar3_____ -complex ways, and the increasing sophistication of the uses made
it is imperative 4 schools keep abreast of current thinking 5
1.

No: 20
st appropriate option for blank(3).

Question ID : 630680830032

Option 11D : 6306803251272
Option 2 ID : 6306803251270
Option 31D : 6306803251269
Option 4 1D : 6306803251271

di Language and Comprehension 1

Z o YU TgaT=h 2Ueg AT 1|

Question ID : 630680832930

Nntinn 1 1IN - ANARANAVAZ2ATN
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19, fou 71q =R frereal # |, 39 frerea o1 o= &3 St & 7 Arnifn & aref i
g<h hedT gl
T hl B¢

Y o1 FARoReRt At s
TR H AT

T SeeaT g
ST F AR

Question ID : 630680830718

Option 11D : 6306803253950
Option 2 ID : 6306803253952
Option 31D : 6306803253951
Option 4 ID : 6306803253949

‘3T TRk =1 TAT ek Rh = A gfed &R
RSt 39 Mg fi smasadan gl

Question ID : 630680830837

Option 11D : 6306803254404
Option 2 ID : 6306803254402
Option 3 ID : 6306803254403
Option 41D : 6306803254401

& o SehrdT 2ree ohr TTE AR

Question ID : 630680830809

Option 11D : 6306803254300
Option 21D : 6306803254297
Option 3 ID : 6306803254298
Option 4 ID : 6306803254299

‘3 fA2iwor @1 T vk Reh = Y gfed &R
< ShIRUT ShedT A hael T=a gt snu &1

Question ID : 630680830709
Option 11D : 6306803253916

Nntinn 2 1N - A2NA0N22°E201 41
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7 # ¥aEiford 2real # Ffe 71a o Ffe=fga fasea o1 oo w11 aly R g i 8, &t
g

1l & fore fSaemtursia @1 ga R &- ST &1 de|

& fial & forg ShifaeRIdTSI= ol e SITER §- TS ol HIEH |

& aTfRiel o g Sfigentursi=1 T Hef SMTeR 8- SIS o HIGH|

& aTfRTe} < forg Sfiaentursi=1 T ol SITeR 8- SIS o HIGH|

ragi g
Question ID : 630680832925
Option 11D : 6306803262649
Option 2 ID : 6306803262650
Option 3 ID : 6306803262651
Option 4 ID : 6306803262652
& BT A5 d 2 AT I

Question ID : 630680830682

Option 11D : 6306803253816
Option 2 1D : 6306803253815
Option 3D : 6306803253813
Option 4 ID : 6306803253814

19, o 7q =R fRereal 7 |, 39 Rrerea o1 wa= &3 st & 7 Alnifs & aref i
O<h T &l
& = e

T Ufra T & 9T e

I oYerT # I<itof gt S

F TR B T R BT IS
ARG T ch hIFAT SheT

Question ID : 630680832835

Option 11D : 6306803262305
Option 21D : 6306803262308
Option 31D : 6306803262307
Option 4 ID : 6306803262306

‘3T TRk T TAT ek Rh R A gfed el
TeehR ATRY dig W@ &l

Question ID : 630680832957
Option 11D : 6306803262770
Option 21D : 6306803262772



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

‘3fa R o1 T Feeh R == i gfed &R
praTfRded @R Fis_____ mm

Question ID : 630680832955

Option 11D : 6306803262761
Option 2 ID : 6306803262762
Option 31D : 6306803262764
Option 41D : 6306803262763

17, Ry g ar famreal & 9, 39 fRereu &1 9971 & o1t & 71 Ftentf< & ordf &t

O<h T &l

@SR | 3eh

fiea & Fencteny gt gEfed | thd ST

Fr &wm

79 TR &I auf g+

T Fafa e
Question ID : 630680830717
Option 11D : 6306803253947
Option 2 ID : 6306803253948
Option 31D : 6306803253946
Option 41D : 6306803253945

g o1 yafgaT 2reg Td |

Question ID : 630680832889

Option 11D : 6306803262516
Option 21D : 6306803262513
Option 31D : 6306803262514
Option 4 ID : 6306803262515

A § Y@ifoha 2regl d e 71a o FrfRa Rerea o1 o9 1) ok i g A &, &t

I
1 STt & 39 Ul Rl Sherar e ok 9 g ot 59 warag guaar @
I

} fon TETCHT STt o &1 UATET ohl TthetdT Aot SR IR g ol 59 wiaTag 99sT ¥

T3 FETHT STt & &7 T ol FeherdT At SR SR ST ot 39 WaTaE e ¥

e
o wrgTaT STt &8 371 vt &t eherar Hieltlt 3R IRt gfAaT @l 39 waTag IEen @
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18, R 1y ar el A |, 39 fasey o1 99 & St R 1g g’ & oref &t
O<h hedT &l
@AT

ESuC
gt St
% Tehe AT

Y oSt & € YROT ST

Question ID : 630680832960

Option 11D : 6306803262782
Option 21D : 6306803262784
Option 31D : 6306803262781
Option 41D : 6306803262783

14, g g ar et d €, 39 fAeey o1 99+ o St g 79 gerer & oref &t

O<h T &l
&«
=T
Rg_T
AT
IGI
Question ID : 630680832959
Option 11D : 6306803262780
Option 2 ID : 6306803262777
Option 31D : 6306803262778
Option 4 1D : 6306803262779
& Rl dGd QA AT I
Question ID : 630680830849
Option 11D : 6306803254450
Option 2 ID : 6306803254451
Option 3 ID : 6306803254449
Option 41D : 6306803254452
& o1 faeiH 21eg w1 3|

Question ID : 630680830729
Option 11D : 6306803253994
Option 21D : 6306803253995
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‘3 fatwor @1 g FRd Res == & gfd &)
__ S Qa1 @ safog ag T SR 81

53

Question ID : 630680832916

Option 11D : 6306803262616
Option 2 ID : 6306803262613
Option 31D : 6306803262614
Option 4 ID : 6306803262615

A § Yaifoha 2real d e 710 o FRxfRa Rereu o1 oo w11 aRk wiE gl =i &, &t
’gﬁl

78 & foh gt Y g1 A, a1e @ g1 arelt aifa ofik s wRamg &5 o1t et 81

1 v 7g & foh ugel ol gt H, 91 & B9 aTelt &iclt SR ST HaTd 1 31T 9671 &

7 faw a8 & fon uget &t g1 3, 91 T g1 areft &tfal 3R STehT UTa &5 31TsT 9l &

1 fawa ag & fon ugel &Y go , I1g @ §19 aTel! &l 3R S¥ent T &5 37Tt gl 81

LG

Question ID : 630680830721

Option 11D : 6306803253962
Option 2 ID : 6306803253963
Option 31D : 6306803253961
Option 4 ID : 6306803253964

I ® ¥a@iford 2reel & Ffe 71a o FRe~fga fAened @1 oo 31 aft i g gt @, &t
’gﬁl

1on1 fAmfor dgiferaw srufq @faer d«1 @ & glar g @fr & iR 9 @l e dw d

[ =1 £t GfYehet ofix AETeR &t 21

e

e o1 fAmfor dgiform srufq @fe dar @ & gtar & 3fth 39 R & @faer da &
TT 81 Afehet SR AT & BT &

AR oht fmfor Ogiform srufd @fHst 3 & gt giar & afthT S& e & @fae dar &
31 €1 gfhet SR HET S BT 81

TR a1 FATOT Ugiferm Srafd @St aet € 81 81aT & cifch 39 U T @fest del |
ST 8t Jufchet SR HE M g1 &1

Question ID : 630680830887

Option 11D : 6306803254596
Option 2 ID : 6306803254594
Option 3 ID : 6306803254595
Option 4 ID : 6306803254593

di Language and Comprehension 2
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I 2 forg arefer 2reg ira MfSTl
&

Question ID : 630680832953

Option 11D : 6306803262754
Option 21D : 6306803262753
Option 31D : 6306803262756
Option 4 ID : 6306803262755

Rl &l &, @, 71 3R U & AAaer @ shuifera farar mar @ it 3 e @ g @
M1 ¢ foheg 5779 & Uop St “sifaf=r’ § ofik 3uah fomm oft /e et @i
feul 3 @ 39 SifalR=h At &1 =g R

RT fARIERT @It at ST <A a8 39 o= s faftm s ar

=it gTeis =T T o7 SR gl foRelt sitter e @

oft1 7 st ot fiF-aR FEH qRET ur

R &I SoprR s, S @reft sta, gét hfifdat ofik sheeert enfe @1 & o ot

Question ID : 630680833025

Option 11D : 6306803263032
Option 21D : 6306803263031
Option 31D : 6306803263029
Option 4 ID : 6306803263030

& ot Al 21eg wTa 3|

Question ID : 630680832891

Option 11D : 6306803262522
Option 21D : 6306803262521
Option 31D : 6306803262523
Option 41D : 6306803262524

RFag UM A &, S s R 1 aR A R af &, A aE R & & 1
et g1féen o e fRwiy) uisan gra & i mizat & gw smar e 2

T & o

TreaT gy | Sré migat
eI

& Tg ATt gifcen & e
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2T arerain A arery ST T TE h <R gHIT?

FH & gl af sea-s3a oft

A FOT AT A & AR

Ysht argar g

RS BT SMdl g Afha &

3
Question ID : 630680832861
Option 11D : 6306803262405
Option 21D : 6306803262408
Option 31D : 6306803262406
Option 41D : 6306803262407

I & forg Tmefes 2rez wiTa HifSI

gt

T

Question ID : 630680832910

Option 11D : 6306803262589
Option 21D : 6306803262591
Option 31D : 6306803262592
Option 4 ID : 6306803262590

2T arerain A arera X1 T TE h <’ gHIT?

fFdgaymeaEfn

mrsd! et aersil @t daa, sHdh
134l <pr SiaR ot «relt @

& FArepeft yRTY R Sfra=

3

Question ID : 630680830741

Option 11D : 6306803254040
Option 2 ID : 6306803254038
Option 31D : 6306803254037
Option 4 ID : 6306803254039
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I &1 ag 9T 91 &%, forad aog g 21

I wethied &t g & g iz 3, a9 Affa dR = $5 999 & fOg gar &t
1 817, iR orar ek g 39 ol 81 geh &1

3 e §H 39 ST 81 Ieh 6|

72 3 g §R ) et T g,
B N, a9 RAffa dR R

ST IS IR eht AR

Question ID : 630680830866

Option 11D : 6306803254516
Option 2 ID : 6306803254515
Option 31D : 6306803254514
Option 4 ID : 6306803254513

Tl &t &, @, T 3R 9 & St S shAifora foram mar @ St 3t ohe 9 v we

M1 ¢ foheg 3779 & Uoh daet ‘sifaf=r’ § ofik Suah fomm oft R/ et @i
hedl & @ 39 Sifafk<s Aaer &1 9g9 1|

g ufae, &etr R =afa & S=0 AR R

garerien ot sEiferg o ur Y yffienT | ag @ @, agEy ok S A

ag 31U ST Sita § W% gl T AT,
ar U1 foh g2fer erFmaTd & 'are-are’ e arferal aRA e &

Question ID : 630680830653

Option 11D : 6306803253703
Option 21D : 6306803253701
Option 3 ID : 6306803253704
Option 4 ID : 6306803253702

& o SehrT 2ree A1 T AR

Question ID : 630680830684

Option 11D : 6306803253824
Option 21D : 6306803253821
Option 3D : 6306803253823
Option 4 ID : 6306803253822
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1 & STYR R Uig U f&Q 7g 1 TTeIier ht ey U auT U U o IR faehedi 3 9

“TRER] IR B GehdT §, AfhT ST HER h I St I1d Y T &1 3 1d & b Ueh ol I8 Sler
1 g SHa 81 | STeR] 82 TTeT ehi [T | oI SaTal ot oens STl &, theas! 399

T8 & Sid dh S8 AT & IR | I T8 &l &, Teas] T STTH HiF ®U & 3! g
Y IR Teped! & Ty T R U1 3@ &, I SR g & Ui HoR 7 g =@yl

MY AT T & o STTST § HERd Y e, Afched THY g1 [Hehted UTd, df 319 Heqd
CATETd Al oIE HORd el SRl (T TATG | Shg T STIM & T g ot v fraelt & T e
& A AR & UtheR YSten Fia-aie geima <t § fob a1, sa=a ar yAur dafelt deredt
Y SER g

& 15 SRt 951 o1 Trr SiaR! sroe et wR i AeR TR § HeeTR gt 81 &
T Sro= e Y SiR S o forg Uiewnfed s kel &1 BT, i aic dhgd & o Hahed et
“Hg<aquf Ug & foh Gg ol I & oI SIE-BIE Sfid @1 S o | ST B ST IR T8
X GIE Uoh 1S SHIG et ITelt &1

No: 11
'R, ffef@e et d ug, Yaifrd e o1 IRa vafaar e 519 &R

T ot ag Biel giar &, 3R EuRT ug Sieadt A 81

Question ID : 630680830774

Option 11D : 6306803254162
Option 2 ID : 6306803254164
Option 31D : 6306803254161
Option 4 ID : 6306803254163

on:

31 & YR TR ufg ue feQ 7 &1 Terier st eamydes ug 9T Udeh U & IR faehedi 8 9
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